i H AN K4 gL k2 LR ik
200m T 3 M s Am(2) 3fr 22.02 +0.5
HEPR S 3 5fir 21.85 +1.7
T 44 WK 2 (2) 31 21.99 +1.5
PR 141 4 fir 21.86 -0.4
1500m Ti% 3 ¥ SYRE3) 4 fir 3:58.07
PN 1141 3:54.42
5000m RS B EHL(2) 5z 14:32.01 S0 TH Hig
110mH Tk 45 1N S A1 6:)) 3fir 15.21 +0.2 | 2IETH H3%
PRI 3 1 4 i 14.65 +3.0
PN 6 fir 14.62 -0.2
3000mSC | T 14 Al w(3) 3 9:22.50 20 TH s
PN 6 fir 9:17.34
TiE2 FIEL INIG)) 6 fir 9:26.46
T 3 FRE ) 11 fi7 9:42.54
5000mW | iRp BRI PR 1141 22:35.14
4X100mR | Ti& 6 i S HI(2) 1z 41.15
R 2 (2)
SR TEEE(2)
I EE(2)
HEPRRE S HHL | R HIRI(2) 2 fir 40.97
AR 2 (2)
SR TEEE(2)
I = ()
PN SOR HIA(2) 4 fif 40.82 2 TH Hi5
AR 2 (2)
SR TEEE(2)
W EE(2)
4x400mR | T 6 # R Ai(2) 2 fir 3:20.81
WE RUE©Q)
I FRE)
£ HER(2)




i H VAN K4 gL Bk LR ik
4x400mR | MEDRPS 1AL | A1 HERR(2) 3fr 3:17.16
R 2 (2)
WE sUE©Q)
el =)
PN A HERE(2) 8 fir 3:25.43
WE sUE©Q)
R fit(2)
feE o 12(3)
fEH AN K4 [[=¥ia Bk LR e
100m T 1A HI () 141 12.15 +0.4 | 20ETHHB
RIS 3 #H 147 11.89 +0.9
PN 6 fir 12.08 +0.6
400m Tk 4 R F7 ) 3fr 57.53
YR 3 Al 4 fif 57.35
100mH T 44 JFREF  HE(2) 2 fir 14.38 +2.2
R 2 Al 4 fir 14.18 +2.6
BAIES RJYs i ey 5 A AL(2) 17 13m56 S TH g
4X100mR | TiE 4 mh o EhEQ2) 1z 47.21
HrE ERB)
AH ETH2)
i HEKRQ)
W 3 | B AEQ) 1z 46.91
S 2 6))
AH HTH2)
I HEKRQ)
NI Fiy  BEQ) 5 fir 47.14 2 TH %
FrE ERB)
ks #HiF(3)
I k(1)
4x400mR | T 4 # = v HHET5(2) 2 i 3:50.91
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A #Hi@3)

HHO&FHI2)

o =)

2z

3:47.63

= HHET(2)

A #Hi@)
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6 fiL

3:49.94
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